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THE OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES (LEVEL 4)
FINAL EXAMINATION: JUNE 2014

OPERATIONS MANAGEMENT —MCU 2205
DURATION : THREE (03) HOURS

This paper contains Six questions and has TWO PAGES.

Date : 14 June, 2014

Time : 9.30 am — 12.30 pm

Answer any FOUR (04) questions.

Use of a non-programmable calculator is allowed.

M

@

€)

0]

(i)

@

(i)

®

(i)

What are the key components of a “system”? Explain how the production
system could be an ‘Open System’ with suitable examples. (12 marks)

With suitable examples explain the main differences between ‘goods’ and
‘services’ and describe how these differences affect any four operations
management functions of your choice. (13 marks)

Explain the different manufacturing situations; make/assemble-to- stock
and make/assemble-to-order with suitable examples. What are the
circumstances of each of the systems surviving in the marketplace?

(10 marks)

With suitable illustrations describe the ‘job-shop’, ‘batch-processing’-and
‘repetitive manufacturing’ systems. Explain how the above described
systems become more appropriate with the production volume and degree
of flexibility of the products of an organization. Use suitable examples for
your explanations. (15 marks)

Using your own words explain ‘operations strategy’ and different
categories of issues comming under the operations strategy of an
organization. (10 marks)

Explain the concepts of cost, quality, speed of delivery and flexibility
associated with operations strategy. How do these concepts help to form
core operations strategies for a manufacturing organization? Describe how
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a manufacturing organization could develop core competency with one or
more of these concepts. (15 marks)

Explain the concept of ‘productivity’ at a manufacturing organization and
the importance of using measures of productivity at organizations.
(12 marks)

Explain the measures of productivity; ‘partial measures of productivity’
and ‘multifactor productivity’ with suitable examples. ( 8 marks)

Describe the measures that could be used to improve productivity at
manufacturing organizations. . ( 5 marks)

Explain the need to maintain inventories at organizations and costs
associated with maintain such inventories. (10 marks)

An organization requires 25,000 kg of a certain component a year. One
kilogram of the component costs Rs. 100/=. -The stock holding cost of
the component is 16% of its cost per year. The administrative and other
costs related to place an order for purchasing this component is Rs. 320/-
per order. Organization works 250 days a year.

a) Calculate the economic order quantity.

b) As per (a), how often the orders have to be placed for this component?
c) What is the total annual inventory cost for the item?

d) Explain the limitations to your answers.

(15 marks)

Describe the measures of quality control that takes place at the key stages
of production system; input, process and output with suitable examples.
(10 marks)

Describe the costs of quality. Use suitable examples to elaborate your
answer (15 marks)

M

(COPYRIGHT RESERVED)



Bevnins FIDHS LOBMEVEHSPELD

WPETMmDSSHINNG SHmBE6T UL Liotenl BapsFdd &b  (blLb 04)
Qo1 uf’ems — 2014

QewmBLUT@ssT (Waremindgeud - MCU 2205

&mevld: cpeiipl (03) LoewiGHIITeOmISHsIT

80 usslnd p elemssemenud, AIEH( LbGEREMTUD CsTemifsieng

Haad: 14.06.2014 Gmyb: 09.30 (p.u. — 12.30 L

€ e

%

simaIGuEID BIeig (04) eflamssEnsd eflen a1psIs. @6uQeuT eflemealb
25 yelerllaemend OamemiBeirener. Blapsdl Byel LTS elewi gal § Suipbglyii
LTelsne IGILGIESUILL B6iTengl.

01. (i) “lpempeio”  Quitedlell  (PHEW  SluGEsT  WiTeneu? 2 _BusHH  (PMBEHLD
sleluTyl  HBHS  (POBOLWLTENGHGD  HILDS  SEbHS 9 _ SN 60N MHIGTHL_ 65T
allends @®.

(12 yehrerflaein)
(i) “OurmL e’ “Caemeumsii” yBwaBplent Guisiter Lysmeo Coubmiemioaeme

HGBS 2 HIIWERIGEHL 6  ellenbGausiLe, @6l GCeubmieniosei eTelleuTmI, B
Qs fley Cews sT6meUGWIEnILD BT6IE QewBuTBsei (PEBTEMIDSH S0
BLAUQEMBHM6T LITHlGSl6men sTeiiLengd allend@s.
: (13 ysitsfsein)
02. () OQoreiGoum o MuSHFH CFuud Keneosndmen 2 _HMJeOIBIBEHL T e,
BoLUBG 2 BusSs  QEuIBe/CUITMmESSIH60, BLLDNEG 2 BudHd QFuiged/
CUTHSHIHHO S Bel  @eiGeung (pempenioufd,  Fhewpulled  61F
GLpBlemsoulled Blemevda Bibalsmen?
(10 ysireaen)
(i) ‘CoumeudbsmL’, ‘OaTEGHF OFwBUTE’, ‘e BeWD 2 Busd  (pemmenLD’
ABW  (POBOLBMET  HEGHS 2 _SHIJeMBISEHL6  alenb@s. GG
elufléasiu L (LPEDBENLDEBEIT sTeeUTm BImleueTGILOm6sIS 66T 2_BuUHHII
CuTeLsslel 2 BUSE Cstms, OBDPFHH Seeon LD BBl E
Blsad QUIHSSOTE  Siemioulb sleilens  efle@s. 2 gl elmésrssing
S5ObS 2 SHTTIHRISMETL LUIGTUEHSHE5I5.
(15 yeereseir)
03. (i) 2 gl CFThy enmsslunsmsTs CETa®  QFuBLUTES6T o_LMUGDHUD’,
BimuenGuorsipflelr  QFILTEEsT o _UmubSe  &ip QUMD  LIsOGaIm  auemEWLITET
dysdmensemenuyd aflendgs.
‘ (10 yeneMaseir)
(i) CFEwBUTESST o _LMUSSIL6 OFTLiuter QFeve), Sib, alBCwrssHaer Geusid,
OpaslpFdls  selenw BBt Cam urGsemen alens@s. 2 Mmuss)
plpeueCorafléasTs  Gmanana  QFUBLIGSST © UTUKISsT pme B
CaT_LTBEST eTelouTH 2 Hab? ©_HBuss BlmieueCoTeIy B6l @iy SievevgE
SPE  CHETLUTHSBEHLE  DFHET  G)enemmeuTe smemwenuwt  steleurm  afmsa)
Qauiuyb?
(15 ysiteasi)



05.

06.

(i)

(iii)

(i)

ii.

o_BUGHS) BmieuerQLomesslest ‘o_BusHHdHeieno’ Cam_um_enL_uyib,
BlBIe6THRIB6T60 2 MU S SHH6Teno IbL_6ULY &H6MHHEM6TLI UwIedTLIB & s eVlett

(PHBWSHHIUSHMBWD  el6TTes@Hb.

(12 ysiteassin)

2 _BuUHG HEIEHID BLOUYSMESMET eleNbGd. ‘Sl L 2 _BusHs SHetenio
BLOIQGHMS’, ‘Gl B 2 BuHFH SO BLONQEMS —PHUABOD SGHHS
o_SHTJerRISEHL6 eflend @b,

(08 ysiTerileseit)
2 _Busgl plupeamsaisd o BUSHS Seenwemul GLbLBSHS UWLGTLGSSUILGD
BLAUQSHNHHN6N iUl @ s.

05 ysitefasir)

Bloeuemiseafed  @olubsmen  CuamieugBaTen  CHmaIMWIWID,  SieIITBITET
Bolyssmenl CuamlSIL 61 COFHMLiurer QFevasamenud alLfldoses.
(10 yeferiiesei)

poeusGoranlse GUuilL  QuIGOTaDI  aIGLSSHBEG 25,000  &).aymb
Comautiu@alsma. oIt Qurmeler @@ &. algmder ellemeo  puT.  100.00
UGW. S0 CGur@efet @@Ly UTHSTULTES DSBS HEGD 0Fea] aIHLSHHBEG
opa  efmeoulsd  16% wrEL. U  OUTGDeT OEeieuame CFUiBHE
sLLmeMUIBoSBETeN  BliouTs  HEI — gemert  QFevaisst  aImHLSBE
sLLemenGmeidlés@  apum  320/= yu@ib. plmieusd  euGLGTanfeE 250
BIL&EHEG CsmifleorBnialemai.

a. B Quipeler Hbsam ST QBTnSEmULIES S BB B .

b. @i Qurmeime  GwBeowsiten  (a)sir  wLig TIHHME  FHL_6MEUHEIT
sl LensruiiL UL 6o CeuetiGd?

C. @ Qurmefea eumLTHS @MUY OFevey wirg?

d. 2 105 ellDLEDUIS STEILISIEVISTST 6UEDTUIEHBHM6T alleNhEs.

(15 yeiterfeseir)
2 _Busbgl epemwuller (psalu slLkissied @b Qupib Hyé sl @uT@ss.
o st6lfB, OFwedipomm, OQeoueliuip PSwBDBS SGHS 2 _SHTFETEISEDL 6T
eflend @ s.

(10 yseiteriessi)
pwws  GFeemma  elufiE@s. 2 g elmLow  alMEEGUSBE S5EHES
2_HNJERIMIGSM6NL L6 LBSHHIS.

(15 yeiteriiaeir)

(gl fleniowjentL1g)




